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Name ______________________________

Short Answer/Short Problem

1.  Which capital budgeting rule(s) can lead to incorrect decisions because it ignores some or all of the project’s cash flows?

2.  Which capital budgeting rule(s) can lead to incorrect decisions because it ignores the riskiness of the project’s cash flows?

For questions 3 and 4, indicate the impact of each on the cash flows 3 years from today as used in the capital budgeting process.  Assume that the corporate tax rate is 35%.  Note:  use a “+” to indicate an increase in cash flow and a “-“ to indicate a reduction in cash flow.

3.  Hermione Corp. is considering purchasing a machine costing $300,000 and which falls into the 3-year depreciation class.

4.  Ron Corp. is considering building a new store that will generate $100,000 of sales per month.  However, $20,000 of these sales would come from the stores Ron already operates.

5.  What conflict exists between management and stockholders with respect to the size of the firm?

6.  Who wins and who loses when the firm pays a dividend?

7.  Suppose you wish to calculate the number of units you must sell to break even on the basis of net present value.  What would you enter for “Dep” in the breakeven equation?

8.  What type of analysis examines the impact on net present value of changing one variable?

9.  Suppose a project being considered has less risk that the firm’s existing assets.  What type of capital budgeting error could you make if you use the firm’s weighted average cost of capital as the discount rate for the project?

10.  What is one problem with trying to estimate a project’s beta using historical returns on similar assets?

Essays/Problems

1.  Harry Potter Corporation’s existing assets have a market value equal to $600,000 and a standard deviation of returns equal to 24%.  Potter has debt which matures for $500,000 five years from today.  Potter is considering undertaking a new project which will have a 3-year life and which will cost $200,000 to undertake.  This project has a net present value of $30,000.  The standard deviation of returns on the project is 30% and the correlation between the project and Potter’s existing assets is 0.85.  The project will be funded by issuing additional debt that matures for $150,000 and by issuing  additional equity.  Given the APRs (assuming continuous compounding) on T-strips listed below, what is the value of Potter’s equity after the project is undertaken?

Return on T-Strips

Maturity
APR
1 year
6.13%

2 year
6.04%

3 year 
6.30%

4 year 
6.28%

5 year 
6.25%

6 year
6.23%

Finance 4360; Exam II, Summer, 2000; page 2 of 2

2.  The return on Quidditch Corp. for the past 4 years was as given below:


Return on:

Year
Quidditch
S&P500

1996
22%
35%

1997
-3%
10%

1998
17%
22%

1999
24%
9%

a.  What is the standard deviation of returns on Quidditch?

b.  What is the beta for Quidditch?

c.  If the market risk premium is 8.4% and the T-bill rate is 5.2%, what is the required return on Quidditch?

